Hardware

MM - MQ

I/0 with EMI/RFI Backshell

475 — |
(.485%)

190 MAX
(185 MAX*)

f

125 HEX
(187 HEX*)

#2-56 UNC—2A
(#4—40 UNC—2A%)

SPANNER NUT

#2—56 UNC-2B
x .165 MIN THREAD

(#4—-40 UNC-28B LOCKWASHER
x 170 MIN THREAD*) FLAT WASHER
JACKPOST ASSEMBLY

#2—56 JACKPOST
#4—40 JACKPOST

00—-000—000—-000—-2200-01G
00—-000—000—-000—6200—04A

— 138 DIA MAX
(.200 DIA MAX*)
WITH KNURL
#2—56 UNC—2B — H J %‘ T
x .090 MIN THREAD 125 DIA
(#4—40 UNC—2B*) (.187 DIA*) SEE DETAIL A
x .110 MIN THREAD
RETAINING RING LONG TURNING
JACKSCREW ASSEMBLY

#2—56 JACKSCREW, SLOT HEAD
#4—40 JACKSCREW, SLOT HEAD

FOR RECEPTACLES WITH GROUNDING FINGERS
#2—56 JACKSCREW, SLOT HEAD
#4—40 JACKSCREW, SLOT HEAD

00—000—000-000—-4400-01G
00—000—000—-000—8400—04A

00—000—000—000—4400—-0FZ
00—000—000—-000—-8400—-0FZ

356
(.412%)
(.371%%)
080 |-
(.098%) (.427%%)
ﬂ e 125 DIA
#2-56 UNC—2B

x .090 MIN THREAD
(#4—40 UNC-2B
x 110 MIN THREAD*)

T (187 DIA%)
SEE DETAIL A
RETAINING RING

SHORT TURNING
JACKSCREW ASSEMBLY

#2—56 JACKSCREW, ALLEN HEAD 00-000—000-000-4100-01G
#2—56 JACKSCREW, SLOT HEAD  00—000—000—-000—-4300-01G
#4—40 JACKSCREW, ALLEN HEAD 00-000—000—000—-8100—04A
#4—40 JACKSCREW, SLOT HEAD  00—000—000—000—8300—04A

~

#2—56 JACKSCREW, ALLEN HEAD

# 00—-000—000—000—4100—0FZ
#2—56 JACKSCREW, SLOT HEAD

f

7

00—000—000—000—4300—-0FZ
00—-000—000—000—8100—0FZ
00—000—-000—000—-8300—0FZ

O
1 1,16

HEX

#4—40 JACKSCREW, ALLEN HEAD
#4—40 JACKSCREW, SLOT HEAD

S

SLOT HEAD

.030

ALLEN HEAD

DETAIL A

* = Dimensions for #4-40 hardware (100 position connectors)

** = Applies to #2-56 hardware for receptacles with grounding fingers
** = Applies to #4-40 hardware for receptacles with grounding fingers

MM - MK
Rear Panel Mount Jackposts
for Body Styles IIA", "C", "E", "H"’ "K"’ and "L"

#2-56 UNC-2A

x .175 MIN THREAD*)

| — x .165 MIN THREAD
\I\ (#4—40 UNC—2A
.156 DIA — [T
(.216 DIA%) = [
- L.MG DIA
#2—-56 UNC-2B (.152 DIA*)
x 150 MIN THREAD
(#4—-40 UNC-28B
x 170 MIN THREAD*) —{ |~ PANEL THICKNESS
— A |——

* = Dimensions for 100 position connectors

PANEL | THREAD A
THK SIZE PART NUMBER MAX
.040 MM-—000-000-000-2400-0D1 | .150
.060 #2-56 MM—000-000-000-2600-0D3 | .130
.070 MM—000-000—000-2800-0D5 | .120
.080 MM-—000-000-000-2900-0D7 | .110
.040 MM—000-000-000-6400-0D2 | .150
.060 44— 40 MM—000-000-000-6600—-0D4 | .130
.070 MM—000-000—000-6800—-0D6 | .120
.080 MM—000-000—000-6900-0D8 | .110

"M” Series Connectors
MA—-7

Call (972) 931-3200 Fax (972) 931-9305 www.AirBorn.com .

' REV C,
ICTMAQ47


http://www.AirBorn.com/
http://www.airborn.com/Portals/0/Documents/PDFs/ctma047.pdf

